
 

 

Assessment framework: 

  Cognitive domain 

  Knowing (K) Applying (A) Reasoning (R) TOTAL 

C
o

n
te

n
t 

ar
e

a 

Number, operations and 
relationships (NOR) 

1(1), 2(2), 3(1), 4a(1), 
4b(1), 4e(1), 5(2),  

9 
4c(1), 4d(1), 6(2), 7(2), 
8(2), 9(1) 

9 4g(1) 1 19 

Patterns, functions & 
algebra (PFA) 

9(1) 1 10(1) 1 9(1) 1 3 

Space & shape (SS) 11(1), 12(1) 2 13(1) 1 14(1) 1 4 

Measurement (M) 15(1) 1 16(1), 17(1) 2  . 3 

Data handling (DH) 18(1) 1  .  . 1 

TOTAL 14 13 3 30 

 

Memo: 

Question Correct solution(s) Comment 
Content 

area 
Cognitive 
domain 

Mark 
allocation 

1. 125 1 mrk: correct NOR K (1) 

2.a) 29 1 mrk: correct NOR K (1) 



 

 

Question Correct solution(s) Comment 
Content 

area 
Cognitive 
domain 

Mark 
allocation 

2.b) 35 1 mrk: correct NOR K (1) 

3. 62 1 mrk: correct NOR K (1) 

4.a) 60 1 mrk: correct NOR K (1) 

4.b) 7 1 mrk: correct NOR K (1) 

4.c) 31 1 mrk: correct NOR A (1) 

4.d) 23 1 mrk: correct NOR A (1) 

4.e) 40  1 mrk: correct NOR K (1) 

4.f) 9 1 mrk: correct NOR A (1) 

4.g) 6 1 mrk: correct NOR R (1) 

5. 7 

Possible working: 

 A drawing of 10 apples with 3 crossed out 

 10 − 3 = 7 

2 mrks: correct 

or 

1 mrk: correct 
working 

NOR K 

(2) 



 

 

Question Correct solution(s) Comment 
Content 

area 
Cognitive 
domain 

Mark 
allocation 

6. 20 

Possible working: 

 A drawing of 4 rows with 5 beans in each row 

 5 + 5 + 5 + 5 = 20 

 5 + 5 → 10 + 5 → 15 + 5 → 20 

A correct, but unexpected method: 

 5 × 4 = 20 

2 mrks: correct 

or 

1 mrk: correct 
working 

NOR A 

(2) 

7. 6 

Possible working: 

 A drawing of 15 children and 9 apples (possibly extra 6 also 
drawn). Either lines between apples and children or one 
apple under each of the first 9 children. 

 9 + 6 = 15 

 15 − 9 = 6 

2 mrks: correct 

or 

1 mrk: correct 
working 

NOR A 

(2) 

8.  3 

Possible working: 

A drawing of 12 marbles and a ring around every 4 marbles. There 
should be 3 rings 

2 mrks: correct 

or 

1 mrk: correct 
working 

NOR A 

(2) 



 

 

Question Correct solution(s) Comment 
Content 

area 
Cognitive 
domain 

Mark 
allocation 

9. Tricycles 1 2 3 4 8 

Wheels 3 6 9 12 24 

   

1 mrk: 9 wheels 
correct 

1 mrk: 8 tricycles 
correct 

PFA K (9 
wheels) & 

R (8 
tricycles) (2) 

10. 

 

1 mrk: correct PFA A 

(1) 

11. behind 1 mrk: correct SS K (1) 

12. 

  

1 mrk: correct SS K 

(1) 

13. 

   

1 mrk: BOTH correct 
and no extra 

SS A 

(1) 



 

 

Question Correct solution(s) Comment 
Content 

area 
Cognitive 
domain 

Mark 
allocation 

14. 

 

 

1 mrk: BOTH correct 
and no extra 

SS R 

(1) 

15. evening 1 mrk: correct M K (1) 

16. Thursday 1 mrk: correct 

Do not penalise for 
spelling error 

M A 

(1) 



 

 

Question Correct solution(s) Comment 
Content 

area 
Cognitive 
domain 

Mark 
allocation 

17. 

  

1 mrk: correct M A 

(1) 

18. June 1 mrk: correct 

Do not penalise for 
spelling error 

DH K 

(1) 


